
Section 1.6, p.1 

Answers to 1.6 Homework 
 
 
 
1.  

a. 2145 + 245       c. 2145 − 445  

= 2435          = 1205 

+       − 
 
 
 

 
 

 
2.        3. 
  
 

 
 
 4. a.  

 
     
 
 

10012 = 9     10112 = 11 
c. 9+11= 20  d. 20 = 101002, the same as when we add the numbers in base 2 
 
 
 
 
 
5. a. 12x60 + 2 = 722  

b. 3x60 +21 = 201 
 

6. The number could be 3×3600 + 1 = 10,801, or 3×3600 + 1×60 = 10,860, or 
3×60+1=181 

7.a. 204 = 3x60 + 24 =        
b. 185 =  = 3x60 + 5 =       
8. a. 85 = 2216 b. 13412 = 184  c. 1445 = T0512 
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a) 2458 
  + 1738 

c)  10012 
  + 10112 
   101002 

  c) 21412 
   − 19312 
        4112 

a)  2738 
   − 1558 
      1168 


